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H ARAEREY v (mg/ L) " 0,035 0.040 .| 0.018 | -~ e 0.052 -
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| DO (ug/t)
I K B B 5 (UPN/100me)

KA | ik ES (ng/t)




B K M £ 50 AKCEE B TE A R

Mokt | BTN N
W & H B|mkERE |e6R48|8A5B|1045H 12568
® #: R 2 2 I
B ok oAl (B 2 53) 13:30 § 11:05 13:30 10:45
RN i (m)
i3 # (ni/sec)
Hel 4% ok 1 @
& Kk B (m)
I (m)
4 ik (C)
T |k # )
# 1
ATRE] (9%
A 8 (om)
B | & f

pH (HIFERZKECY

pHA. 3 BREE (Calls me/t)

B | pHG.0 FRIE (CaCls me/t)

pHE, 4 BRET (Cal0a mg/D)

pHB. D7AAEEE (CaCly me/f)

M| BB A (ug/t)

kA A (/1)

T—-Fe (mg/t)
| Fe? {mg/l)

Fe™® (mg/1)

AlL® (mg/t)
#| SS (mg/t) | 13.0 21.3 | 59 12.8 -

i) JE:S ) 3.6 | 1.7 4.0 8.0
k| i3 )
2 | CODua (ue01/t) 2.96- 4.86 2,50 0.21
¥ BOD (ug0/2) 0.93 1.15 0.72 1.08
% # g % (mg/13 113 1.76 1,62 1,29
Ji | TREHRRRER (mg/1 ) 0.03 0.03 0.02 0.00
B LT e g/ 0. 004 8. 011 0. oo4 0: 002 |
| R B 2 (mg/t) 0.83 1.21 1.39 1.23
1 Y-SR (ma/t) 0.30 0. 54 0,23 0.06-
= woy v Cua/t) 0. 039 0. 087 0,040 0. 021

FHbY R (mg/t) 0.035] 0035 0.02] 0.014
HiDO (mg/t) ‘

| AR B R B CHPN/1OOnE)

M # e




